
Subtraction is “Taking Away” 

  

1. Cross out the correct number. How many are left? Read each subtraction 
    sentence aloud using the words “minus” and “equals”. 

From five bananas we take away three.

      

There are two left. 

   
 5  –  3 = 2 

Five  minus  three equals two

  From six carrots we take away one.  

 

 There are five left.  

 6  –  1 = 5 
Six  minus  one equals five 

10 total. Cross out 4.  
How many are left?  

  

a.  10 – 4 = ______ 

6 total. Cross out 6.  
How many are left?  

  

b.  6 – 6 = ______ 

8 total. Cross out 2.  
How many are left? 

  

c.  8 – 2 = ______ 

8 total, cross out 7. 

  

d.  8 – 7 = ______ 

8 total, cross out 6.  

 

e.  8 – 6 = ______ 

7 total, cross out 3.  

  

f.  7 – 3 = ______ 

8
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